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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any five questions: 2x5=10
@I fo dm Ted mie

a) Show the rules of inference in truth-tree
method.

Teiidl safere Ifeffaafe oane
b) What is complement of a set? Show an example.
SAT5FE A 2 THIRAT-9F AR @€ |

c) What is counter example? Give an example.

AF GBE I 2 G306 Tz 7S |

[Turn Over]

d)

g)

h)
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Give an example of a set to show that the

principle of identity is transitive.

G5 AT FCE@ CHIZIET AL @S @
GfeTo A=F AEFNS (transitive) |

Give the definition and example of set

inclusion.
CT6 Seeied AR eT el ¢ Trzae wie |
Define A ~ B by forming sets.

@16 SIO0d TG A ~ B-F 7| M6 |
LetA= {1, {1},R, 4} and B= {1, {1}, R, C}.

Determine the truth values of the following
statements:

41 T, A= {1, {1}, R, 4} 94k B = {1, {1},
R, C} Fare amefr Torey fda 39 ¢

Ae B AcB,AcBandA=B.

Give a counter example to show that the

operation of difference is not commutative.

3T REm oS MRE @de @,
@erg R@es grala as wwHasy

(commutative) <% |
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Answer any two questions: 5x2=10

- 76 AT TSR 7S ¢

a)

b)

c)
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Explain the truth-tree method for testing the
validity of an inference.

@I SN (@e! IR oy o
Amisis A1 9|

i) Test whether the following sentence is a
tautology by truth tree method :

ffeRe It Torre & T ©f Tomn
afed T {6 79 2

A<—>[Av(A&B)]

i1) Determine whether the following set of
two sentences is consistent by truth tree
method:

T Aaiod AR IR 17T 767 T
e i & a1 O ¢eie:

We shall swim even if it rains.
We shall not swim.
I z=1e wwEl Ao o9
Sl R FI6K A |
Give an example of sets A, B, C, D, E satisfying

the following conditions:
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d)

A, B, C, D, E G5 O3 GJ0! 13® 7€ IS
farsferfae »Sufer oife 231 ¢

AeB
BcC
CchD
D#E

What is wrong with the following argument?

—Explain by forming sets:

fgferie e @ @ ©f set tod1 I A0

9 3
Socrates is a man.
Men are numerous.

. Socrates is numerous.
TFLN GG T |
RICERAC ISR

<. FCEOA SR |

3. Answer any two questions: 10x2=20

- 76 AT TSR 7S ¢

a)
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Test the validity of the following arguments by

truth-tree method (any two):
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b)
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TR AwfoR AR FHee Ifewkr @l
S I (TGN 9f5) ¢

i)

ii)

iif)

A<->B

AvB

~A&B

(A& B)—C

-A—>D

. B—> (CvD)

John and Smith are both guilty. But either
John and Robert is guilty or Smith and

Robert are guilty. Both Smith and Robert
cannot be guilty. So Robert is not guilty.

e @R e Tewe | e @ T @R
746 oA w2 M 92 @b @D T
qR 76 TR @I ZCS AT | TSR

76 (I 20 2
Letting (¥9™F) V = {1, 2, 3}
A={1,2}
B = {2, 3}
Find the following: 3
ot R 7 ¢
~A ~(A N B)
~B A ~ (~B)
~A N ~B ~A~(~B)
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i1) Find the following: 3

il fdt 2 ¢
A AA ~ A

{n A ~ A
{nAnd ~ LAY

iii) Translate the following sentences in set

theoretic symbolic notation: 4

i amelhe EdTrs AEtes
JFICT 19 8

A) Poets are fond of flowers and birds.
S T @ A SFAI |

B) Men are numerous.
RICERC ISR

C) Children who drink milk and tea also
drink coffee.

@ 77 e B € 74 oI (T Ol Fee
A1 |

D) AIll equilateral triangles are

equiangular.

e AR fage 23 T |
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c) Test the following arguments the validity by

Venn Diagram (any two):

RS Yfeel™ (o @Mare T [@ael
T T (@A ) ¢
1) AnNnVzAa
VNnS=~a
S SNA#A
ii) Sc~ P uM)
Pc~SuM)
L P=A

iii) All philosophers are wise.
Some philosophers are poets.

Therefore, some poets are wise.

e T 2 S |
g vl =3 S|
- fog 1 = =
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